,'rJl/
Il e2sT
1-pEo
(661361
o
(2x10=20) _&F U 30l e s (e 3o
LR Y ar Ly ST
_ UL Uy F S e s P EI12
_éfufug/gﬁ;_uﬁ_s
St sT(o chpesTa _&leitsond
e
(2x5=10) ekl s 15z p Eos 12l wm@/z_dj 3o
e Qedd Bz ety A5
e bl e T e ks SUTEL e e b (496
_éug./ugm,}u;«iﬁﬁngt.lﬁt&gwwt’l?‘ggjggﬁ.?
-éug,;&:“":ﬂ 2318

(;/Jl/
Il ol L 5T
2.0
(12¢7361)
e
(2x10=20) s 3012 e s (e fion
- NACHNEY v CR V=4 S0 JV1 I
5&/’:¢£w&.¢/}7£/257&2{2
e G S e 5T-3
e OIS S e T
e
(2x5=10) steiie Us 152 s 2L e (e f 5o
L o S e Gl §L 4 Tess 5
ke ST e s
U AAGFLpTFE T
LTS (b Jtmﬂfﬁ"’}j(a _’&@J/?stgﬂﬁ






